Soustraction Horizontale de Décimaux (B)

Calculez chaque différence.

37,83 — 5,375 = 710,08 — 6,9 =
10,1 — 1,9 = 96,78 — 9,24 =
327,464 — 76,32 = 723,54 — 1,52 =
549,635 — 4,9 = 241 - 1,8 =

826,8 — 6,7 = 651,07 — 8,89 =
950,8 — 577,21 = 618,932 — 376,29 =
52,830 — 31,70 = 598,579 — 5,7 =
7,441 — 6,200 = 6,9—4,9 =

196,152 — 28,55 = 15,6 — 2,5 =
25,649 — 7,67 = 8,1—354 =
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Soustraction Horizontale de Décimaux (B) Réponses

37,83 — 5,375 = 32,455

10,1 — 1,9 = 8.2

327,464 — 76,32 = 251,144

549,635 — 4,9 = 544,735

826,8 — 6,7 = 8201

950,8 — 577,21 = 373,59

52,830 — 31,70 = 21,13

7441 — 6,200 = 1,241

196,152 — 28,55 = 167,602

25,649 — 7,67 = 17,979

Calculez chaque différence.

710,08 — 6,9 = 703,18

96,78 — 9,24 = 87.54

723,54 — 1,52 = 722,02

24,1 — 1,8 = 22,3

651,97 — 8,89 = 643,08

618,932 — 376,29 = 242,642

598,579 — 5,7 = 592,879

6,949 =2

15,6 — 2,5 = 13,1

81— 354 =456
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